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£ Rl s
TSP
S \ 24 | 1@ 95 123 78 118 96 105 140 136 150 120 149 89 250
(ug/m’)
PM”; pTioE 57 79 53 60 60 76 7 80 109 64 95 59 125
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PN 2 | i 27 — — 39 — — 43 — — 36 — —
(pg/m’)
S0, Bt ETEE 0.010 0.008 0.005 0.014 0.013 0.009 0.041 0.017 0.032 0.043 0.010 0.018 0.25
(ppm) FIESEYT 0.003 0.004 0.004 0.005 0.006 0.005 0.009 0.006 0.011 0.010 0.006 0.006 0.1
NO, Bt [ PETSE 0.009 0.045 0.037 0.052 0.045 0.045 0.055 0.058 0.050 0.048 0.054 0.044 0.25
(ppm) p I 0.018 0.018 0.020 0.032 0.021 0.030 0.032 0.034 0.023 0.029 0.036 0.030 -
NO B4 BTG 0.001 0.021 0.009 0.045 0.02 0.018 0.034 0.027 0.023 0.023 0.026 0.079 —
(ppm) =T 0.006 0.005 0.003 0.012 0.003 0.006 0.010 0.007 0.006 0.005 0.011 0.040 -
co B4l pImg 22 0.7 0.6 0.8 0.6 1.0 3.8 1.3 2.9 1.7 0.9 2.1 35
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5 (ug/m’) 24 ) i <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
A (g/m’) 24 pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
F (ug/m’) 24 | pF it <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
£ (ug/m’) 24 )i <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
# (ng/m’) 24 ) priE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
@ > (ug/m’) 24 | pEiE 5.29 13.1 6.94 6.42 6.44 3.78 13.0 2.39 6.42 424 10.3 2.93 —
BAFR Atk s A F 0 Al S AR & # Ao A w # -
pTiaE
5 ® 7
B i (m/s) P 2.9 2.7 2.0 1.3 0.9 1.1 0.7 0.9 2.0 1.2 1.3 1.7
2R (C) FEESOr 16.0 21.4 25.6 20.6 18.3 24.8 20.6 19.3 23.7 213 21.0 223 -
HHRE (%) FESCE 71 68 63 70 56 59 71 58 63 68 66 66 -
EAE g/m?/ 8.8 8.2 8.3 7.0 7.8 75 75 72 7.0 75 72 7.2 -
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BEIKBEYEfd FRET N WRRTRIFHI09E ¥ 1FTREFS [ N
NREECM S

*?iﬁfé7k?EiE'J%? 109 # 37 23 pigfs» TR B2 pBMME LR ¥
T RIPBA) B2 LR RMBEB)EARFRERFMBEOF 3 2 E
I P ¢ 7k ~pH DO ~BODs~COD~SS~ ® A ~ 5P A ~ < % FH
WHESRE CZF CRYNF BRI ER EE5 R Al TR 1
B R - SN S T TAEE W s A%~ £ 4% (Cu-Hg-Pb-Zn-
Cd Ni~Cr)~As £ > ERMFLFE - c 2T LRIHELE ¢ K2 KA
2 R PRI b e sA R KRR R RS o TR REA 6 2 B 28~F] 53 -

16 LRIABKTTRES REL

R Z;:i‘
7P MDL | A A Az B: B B C: C C= /M*"
(_Ef ) £
pH - 8.3 8.3 8.3 8.3 8.3 8.3 8.4 8.4 84 [7.5~8.5
kB (°C) - 256 | 254 | 252 | 257 | 255 | 254 | 257 | 255 | 254 —
% 3% £ (mg/l) - 6.7 6.5 6.4 6.3 6.2 6.1 6.4 6.2 6.1 | >5.0
B oEERme/L) | 1.0 35 3.4 2.7 3.4 2.9 32 4.0 2.7 3.0 —
B (psu) - 33.8 | 338 | 339 | 341 | 341 | 341 [ 340 | 340 | 340 -
%P A (m) - 1.4 1.3 1.2 - - -

4123 F(mg/l)| 1.0 <1.0 <10 <10 <1.0 <10 <10 <1.0 <1.0 <1.0 | <3.0

itE 23 £mg/L) 15 5.6 6.6 6.4 6.6 6.2 6.8 6.3 6.1 6.0 —

Sp(mg/L) 0.002 | 0.011 | 0.012 | 0.009 | 0.011 | 0.012 | 0.017 | 0.020 | 0.015 | 0.015 —

B2 % (mg/L) 0.10 0.28 0.23 0.13 0.16 0.32 0.30 0.29 0.23 0.22 —

% % (mg/L) 0.02 N.D. | <0.05 | N.D. | <0.05 | <0.05 | 0.23 N.D. N.D. | <0.05 —

SPex § (mg/L) | 0.09 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | <0.50 —

AE@(mg/L) | 006 | <022 | <022 | ND | <022 | <0.22 | <0.22 | <0.22 | <022 | <022 | —

LA @(mgL) | 0005 | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | —

@ Pg(mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2

@ (mg/L)  [0.0009] ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.01

G >
(CFU/100mL) <10 <10 <10 <10 |1.1E+02| 70 25  |1.4E+02]|1.6E+02|1.2E+02

F4 (mg/L) 0.0003 |<0.0020]<0.0020{<0.0020|<0.0020|<0.0020|<0.0020|<0.0020{<0.0020|<0.0020| 0.05

4% (mg/L) 0.0002 | N.D N.D N.D N.D N.D N.D N.D N.D N.D | 0.005

4% (mg/L) 0.0050 |<0.0050]<0.0050|<0.0050|<0.0050|<0.0050|<0.0050|<0.0050|<0.0050|<0.0050| 0.05

& (mg/L) 0.00015| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.001

4 (mg/L) 0.0004 | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. | 0.03

44 (mg/L) 0.0004 | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. —

4-(mg/L) 0.0004 | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. 0.1

# (mg/L) 0.0016 | N.D. N.D. N.D. N.D. [<0.0050 |<0.0050|<0.0050 |<0.0050 |<0.0050| 0.5

EE®  1000003] ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.1
(mg/L)
E8 1600003 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)
4 | <1 900005 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.1
L men
[=4 /‘\
e = 1000007 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.1
(mg/L)
1 )\
F(?n’gpz; 0.00250(<0.00250|<0.00250(<0.00250{<0.00250(<0.00250(<0.00250(<0.00250(<0.00250|<0.00250| 0.1
b
=¥ 1600004) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)

AL PH 109#037 23 p o
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